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Consider a simple gapping example:
Marge saw Lisa and Homer – Bart.

Assume a simple desired meaning representation:
seepm, lq ^ seeph, bq, or (better):
rDe. seepeq ^ agentpe,mq ^ themepe, lqs ^

rDe. seepeq ^ agentpe, hq ^ themepe, bqs

Problem:
how to derive such representations compositionally. . .
. . . without empty constituents?

In particular:
one verb introducing the representation “see”,
two occurrences of “see” in the complete desired representation.
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tqt qt q q q jSolutions

We propose two solutions:

(1) standard Glue approach,
but assumes Champollion’s (2015) approach to event semantics;

(2) XLE+Glue implementation of Glue,
with meaning constructors collected in values of glue attributes,
compatible with various meaning representations,
but assumes that glue can be made “deeply distributive” (cf. pred);
however, this assumption is currently not implemented in XLE.

In either case, we assume the syntactic analysis of gapping proposed in
Patejuk and Przepiórkowski 2017.
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Consider the following sentence and its intended representation:
Bart walked and whistled.
rDe.walkpeq ^ agentpe, bqs ^ rDe.whistlepeq ^ agentpe, bqs

A resource “problem” analogous to that in gapping:
one occurrence of “Bart”,
two occurrences of “b”.

Standard solution:
represent coordination sans Bart:
λx . rDe.walkpeq ^ agentpe, xqs ^ rDe.whistlepeq ^ agentpe, xqs,
supply and distribute Bart:
rλx . rDe.walkpeq ^ agentpe, xqs ^ rDe.whistlepeq ^ agentpe, xqsspbq
β-reduction
⇝ rDe.walkpeq ^ agentpe, bqs ^ rDe.whistlepeq ^ agentpe, bqs
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Consider the following sentence and its intended representation:
Bart walked and whistled.
rDe.walkpeq ^ agentpe, bqs ^ rDe.whistlepeq ^ agentpe, bqs

A resource “problem” analogous to that in gapping:
one occurrence of “Bart”,
two occurrences of “b”.

Standard solution:
represent coordination sans Bart:
λx . rDe.walkpeq ^ agentpe, xqs ^ rDe.whistlepeq ^ agentpe, xqs,
supply and distribute Bart:
rλx . rDe.walkpeq ^ agentpe, xqs ^ rDe.whistlepeq ^ agentpe, xqsspbq
β-reduction
⇝ rDe.walkpeq ^ agentpe, bqs ^ rDe.whistlepeq ^ agentpe, bqs



3/15

Intro Solution 1 Solution 2 Outro
q q q

t
tq

t
tt

tqt
t

ttt
qt

t
ttt

qt
tt

tq
t

ttt
qt

ttt
qt

t
ttt

qt
tt

qt
t

t
q

tt
tqt

tt
tt

qtt
t

q
t

qt
t

tt
tqt

tt
tt

tqt
t

ttt
q

ttt
qt

t
ttt

qt
tt

qt
t

ttt
qt

t
q

tt
qt

t
tt

qt
t

tt
tq

t
tt

qt
t

tt
tqt

t
tt

qt
t

tt
qt

t
tqt

t
tt

q
tt

tqt
tt

tt
tqt

tt
tq

t
ttt

qt
t

tt
tq t
q

t
q

t
tt

qt
t

tt
q

t
tt

qt
tt

qt
t

tt
tqt

t
ttt

tq
t

t
q

tt
tqt

tt
tt

qtt
t

q
tt

qt
t

tt
qt

t
tt

tq
t

tt
qt

t
tt

tqt
t

tt
qt

t
tt

qt
t

ttt
qt

t
tqt

t
ttt

qt
t

tt
tqt tt
qtt

t
q

t
tq

t
tt

q
t

tt
tqt

t
tt

q
t

t
q

t
tq

tt
tt

q
t

ttt
tq

t
tt

tq
t

tt
tqt

t
tt

tq
t

tt
qt

t
ttt

qt
ttt

tq
t

tt
q

t
t

q
tt

qt
t

tqt
t

tt
q

tt
q

t
tt

qt
t

tt
qt

tt
qt

ttt
q

t
q

tt
qtt

t
tt

q
t

ttt
qt

ttt
qt

t
tt

q
t

ttt
qtt

t
t

q
tt

q
tt

tqt
tt

tt
tqt

tt
q

t
tt

tqt
t

tt
qt tqt

t
tt

qt
tt

qt
t

tt
q

t
tt

tqt
t

tt
qt

t
ttt

qt tqt
t

tqt qt q q q jIdea 1

Consider the following sentence and its intended representation:
Bart walked and whistled.
rDe.walkpeq ^ agentpe, bqs ^ rDe.whistlepeq ^ agentpe, bqs

A resource “problem” analogous to that in gapping:
one occurrence of “Bart”,
two occurrences of “b”.

Standard solution:
represent coordination sans Bart:
λx . rDe.walkpeq ^ agentpe, xqs ^ rDe.whistlepeq ^ agentpe, xqs,
supply and distribute Bart:
rλx . rDe.walkpeq ^ agentpe, xqs ^ rDe.whistlepeq ^ agentpe, xqsspbq
β-reduction
⇝ rDe.walkpeq ^ agentpe, bqs ^ rDe.whistlepeq ^ agentpe, bqs



4/15

Intro Solution 1 Solution 2 Outro
q q q

t
tq

t
tt

tqt
t

ttt
qt

t
ttt

qt
tt

tq
t

ttt
qt

ttt
qt

t
ttt

qt
tt

qt
t

t
q

tt
tqt

tt
tt

qtt
t

q
t

qt
t

tt
tqt

tt
tt

tqt
t

ttt
q

ttt
qt

t
ttt

qt
tt

qt
t

ttt
qt

t
q

tt
qt

t
tt

qt
t

tt
tq

t
tt

qt
t

tt
tqt

t
tt

qt
t

tt
qt

t
tqt

t
tt

q
tt

tqt
tt

tt
tqt

tt
tq

t
ttt

qt
t

tt
tq t
q

t
q

t
tt

qt
t

tt
q

t
tt

qt
tt

qt
t

tt
tqt

t
ttt

tq
t

t
q

tt
tqt

tt
tt

qtt
t

q
tt

qt
t

tt
qt

t
tt

tq
t

tt
qt

t
tt

tqt
t

tt
qt

t
tt

qt
t

ttt
qt

t
tqt

t
ttt

qt
t

tt
tqt tt
qtt

t
q

t
tq

t
tt

q
t

tt
tqt

t
tt

q
t

t
q

t
tq

tt
tt

q
t

ttt
tq

t
tt

tq
t

tt
tqt

t
tt

tq
t

tt
qt

t
ttt

qt
ttt

tq
t

tt
q

t
t

q
tt

qt
t

tqt
t

tt
q

tt
q

t
tt

qt
t

tt
qt

tt
qt

ttt
q

t
q

tt
qtt

t
tt

q
t

ttt
qt

ttt
qt

t
tt

q
t

ttt
qtt

t
t

q
tt

q
tt

tqt
tt

tt
tqt

tt
q

t
tt

tqt
t

tt
qt tqt

t
tt

qt
tt

qt
t

tt
q

t
tt

tqt
t

tt
qt

t
ttt

qt tqt
t

tqt qt q q q jIdea 2

Similarly in the running example of gapping:
Marge saw Lisa and Homer – Bart.
rDe. seepeq ^ agentpe,mq ^ themepe, lqs ^

rDe. seepeq ^ agentpe, hq ^ themepe, bqs

The above representation may be obtained thus:
rλf .rDe. f peq ^ agentpe,mq ^ themepe, lqs ^

rDe. f peq ^ agentpe, hq ^ themepe, bqsspλe. seepeqq

The actual solution is based on Champollion’s (2015) approach to event
semantics. Technically, it is a little more complex:

SEE pλf .rDe. f peq ^ agentpe,mq ^ themepe, lqs ^

rDe. f peq ^ agentpe, hq ^ themepe, bqsq, where
SEE ” λV . λf .V pλe. seepeq ^ f peqq
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An illustration of Champollion 2015 with Marge saw Lisa:
saw ⇝ λf . De. seepeq ^ f peq

[closure] ⇝ λe. truepeq

Hence, for the “sentence” Saw.:
saw([closure]) β-reduction

⇝ De. seepeq ^ truepeq ” De. seepeq

Dependents are semantic modifiers of verbs, e.g.:
Lisatheme ⇝ λV .λf .V pλe. themepe, lq ^ f peqq

Hence, for the “sentence” Saw Lisa. (before closure):
Lisa(saw) β-reduction

⇝ λf . De. seepeq ^ themepe, lq ^ f peq

And for the sentence Marge saw Lisa. (before closure):
Margeagent ⇝ λV .λf .V pλe. agentpe,mq ^ f peqq

Marge(Lisa(saw)) β-reduction
⇝

λf . De. seepeq ^ themepe, lq ^ agentpe,mq ^ f peq

After closure:
Marge saw Lisa. ⇝ De. seepeq ^ themepe, lq ^ agentpe,mq^truepeq
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An illustration of Champollion 2015 with Marge saw Lisa:
saw ⇝ λf . De. seepeq ^ f peq

[closure] ⇝ λe. truepeq

Hence, for the “sentence” Saw.:
saw([closure]) β-reduction

⇝ De. seepeq ^ truepeq ” De. seepeq

Dependents are semantic modifiers of verbs, e.g.:
Lisatheme ⇝ λV .λf .V pλe. themepe, lq ^ f peqq

Hence, for the “sentence” Saw Lisa. (before closure):
Lisa(saw) β-reduction

⇝ λf . De. seepeq ^ themepe, lq ^ f peq

And for the sentence Marge saw Lisa. (before closure):
Margeagent ⇝ λV .λf .V pλe. agentpe,mq ^ f peqq

Marge(Lisa(saw)) β-reduction
⇝

λf . De. seepeq ^ themepe, lq ^ agentpe,mq ^ f peq

After closure:
Marge saw Lisa. ⇝ De. seepeq ^ themepe, lq ^ agentpe,mq^truepeq
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An illustration of Champollion 2015 with Marge saw Lisa:
saw ⇝ λf . De. seepeq ^ f peq

[closure] ⇝ λe. truepeq

Hence, for the “sentence” Saw.:
saw([closure]) β-reduction

⇝ De. seepeq ^ truepeq ” De. seepeq

Dependents are semantic modifiers of verbs, e.g.:
Lisatheme ⇝ λV .λf .V pλe. themepe, lq ^ f peqq

Hence, for the “sentence” Saw Lisa. (before closure):
Lisa(saw) β-reduction

⇝ λf . De. seepeq ^ themepe, lq ^ f peq

And for the sentence Marge saw Lisa. (before closure):
Margeagent ⇝ λV .λf .V pλe. agentpe,mq ^ f peqq

Marge(Lisa(saw)) β-reduction
⇝

λf . De. seepeq ^ themepe, lq ^ agentpe,mq ^ f peq

After closure:
Marge saw Lisa. ⇝ De. seepeq ^ themepe, lq ^ agentpe,mq^truepeq
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An illustration of Champollion 2015 with Marge saw Lisa:
saw ⇝ λf . De. seepeq ^ f peq

[closure] ⇝ λe. truepeq

Hence, for the “sentence” Saw.:
saw([closure]) β-reduction

⇝ De. seepeq ^ truepeq ” De. seepeq

Dependents are semantic modifiers of verbs, e.g.:
Lisatheme ⇝ λV .λf .V pλe. themepe, lq ^ f peqq

Hence, for the “sentence” Saw Lisa. (before closure):
Lisa(saw) β-reduction

⇝ λf . De. seepeq ^ themepe, lq ^ f peq

And for the sentence Marge saw Lisa. (before closure):
Margeagent ⇝ λV .λf .V pλe. agentpe,mq ^ f peqq

Marge(Lisa(saw)) β-reduction
⇝

λf . De. seepeq ^ themepe, lq ^ agentpe,mq ^ f peq

After closure:
Marge saw Lisa. ⇝ De. seepeq ^ themepe, lq ^ agentpe,mq^truepeq
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An illustration of Champollion 2015 with Marge saw Lisa:
saw ⇝ λf . De. seepeq ^ f peq

[closure] ⇝ λe. truepeq

Hence, for the “sentence” Saw.:
saw([closure]) β-reduction

⇝ De. seepeq ^ truepeq ” De. seepeq

Dependents are semantic modifiers of verbs, e.g.:
Lisatheme ⇝ λV .λf .V pλe. themepe, lq ^ f peqq

Hence, for the “sentence” Saw Lisa. (before closure):
Lisa(saw) β-reduction

⇝ λf . De. seepeq ^ themepe, lq ^ f peq

And for the sentence Marge saw Lisa. (before closure):
Margeagent ⇝ λV .λf .V pλe. agentpe,mq ^ f peqq

Marge(Lisa(saw)) β-reduction
⇝

λf . De. seepeq ^ themepe, lq ^ agentpe,mq ^ f peq

After closure:
Marge saw Lisa. ⇝ De. seepeq ^ themepe, lq ^ agentpe,mq^truepeq
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An illustration of Champollion 2015 with Marge saw Lisa:
saw ⇝ λf . De. seepeq ^ f peq

[closure] ⇝ λe. truepeq

Hence, for the “sentence” Saw.:
saw([closure]) β-reduction

⇝ De. seepeq ^ truepeq ” De. seepeq

Dependents are semantic modifiers of verbs, e.g.:
Lisatheme ⇝ λV .λf .V pλe. themepe, lq ^ f peqq

Hence, for the “sentence” Saw Lisa. (before closure):
Lisa(saw) β-reduction

⇝ λf . De. seepeq ^ themepe, lq ^ f peq

And for the sentence Marge saw Lisa. (before closure):
Margeagent ⇝ λV .λf .V pλe. agentpe,mq ^ f peqq

Marge(Lisa(saw)) β-reduction
⇝

λf . De. seepeq ^ themepe, lq ^ agentpe,mq ^ f peq

After closure:
Marge saw Lisa. ⇝ De. seepeq ^ themepe, lq ^ agentpe,mq^truepeq
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An illustration of Champollion 2015 with Marge saw Lisa:
saw ⇝ λf . De. seepeq ^ f peq

[closure] ⇝ λe. truepeq

Hence, for the “sentence” Saw.:
saw([closure]) β-reduction

⇝ De. seepeq ^ truepeq ” De. seepeq

Dependents are semantic modifiers of verbs, e.g.:
Lisatheme ⇝ λV .λf .V pλe. themepe, lq ^ f peqq

Hence, for the “sentence” Saw Lisa. (before closure):
Lisa(saw) β-reduction

⇝ λf . De. seepeq ^ themepe, lq ^ f peq

And for the sentence Marge saw Lisa. (before closure):
Margeagent ⇝ λV .λf .V pλe. agentpe,mq ^ f peqq

Marge(Lisa(saw)) β-reduction
⇝

λf . De. seepeq ^ themepe, lq ^ agentpe,mq ^ f peq

After closure:
Marge saw Lisa. ⇝ De. seepeq ^ themepe, lq ^ agentpe,mq^truepeq
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An illustration of Champollion 2015 with Marge saw Lisa:
saw ⇝ λf . De. seepeq ^ f peq

[closure] ⇝ λe. truepeq

Hence, for the “sentence” Saw.:
saw([closure]) β-reduction

⇝ De. seepeq ^ truepeq ” De. seepeq

Dependents are semantic modifiers of verbs, e.g.:
Lisatheme ⇝ λV .λf .V pλe. themepe, lq ^ f peqq

Hence, for the “sentence” Saw Lisa. (before closure):
Lisa(saw) β-reduction

⇝ λf . De. seepeq ^ themepe, lq ^ f peq

And for the sentence Marge saw Lisa. (before closure):
Margeagent ⇝ λV .λf .V pλe. agentpe,mq ^ f peqq

Marge(Lisa(saw)) β-reduction
⇝

λf . De. seepeq ^ themepe, lq ^ agentpe,mq ^ f peq

After closure:
Marge saw Lisa. ⇝ De. seepeq ^ themepe, lq ^ agentpe,mq^truepeq
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Marge(Lisa(saw)) β-reduction
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Champollion 2015:
saw ⇝ λf . De. seepeq ^ f peq

Here:
Marge saw Lisa and Homer – Bart.
saw ⇝ (1) λV . λf .V pλe. seepeq ^ f peqq

(2) λf . De. f peq

gapped clause ⇝ (2) λf . De. f peq

Recall Margeagent , Lisatheme , etc., e.g.:
Margeagent ⇝ λV .λf .V pλe. agentpe,mq ^ f peqq

Then:
(2) + Lisa + Marge ⇝ λf . De. themepe, lq ^ agentpe,mq ^ f peq

(2) + Bart + Homer ⇝ λf . De. themepe, bq ^ agentpe, hq ^ f peq
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Recall Margeagent , Lisatheme , etc., e.g.:
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Then:
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Then:
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From the previous slide:
saw ⇝ (1) λV . λf .V pλe. seepeq ^ f peqq

(2) λf . De. f peq

gapped clause ⇝ (2) λf . De. f peq

(2) + Lisa + Marge ⇝ λf . De. themepe, lq ^ agentpe,mq ^ f peq

(2) + Bart + Homer ⇝ λf . De. themepe, bq ^ agentpe, hq ^ f peq

Coordinate the two representations above (Partee and Rooth 1983):
λf . rDe. themepe, lq ^ agentpe,mq ^ f peqs ^

rDe. themepe, bq ^ agentpe, hq ^ f peqs

Add the idiosyncratic contribution of the verb (1):
λf . rDe. themepe, lq ^ agentpe,mq ^ seepeq ^ f peqs ^

rDe. themepe, bq ^ agentpe, hq ^ seepeq ^ f peqs

Closure:
rDe. themepe, lq ^ agentpe,mq ^ seepeq^truepeqs ^

rDe. themepe, bq ^ agentpe, hq ^ seepeq^truepeqs
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Add the idiosyncratic contribution of the verb (1):
λf . rDe. themepe, lq ^ agentpe,mq ^ seepeq ^ f peqs ^
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Add the idiosyncratic contribution of the verb (1):
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From the previous slide:
saw ⇝ (1) λV . λf .V pλe. seepeq ^ f peqq

(2) λf . De. f peq

gapped clause ⇝ (2) λf . De. f peq

(2) + Lisa + Marge ⇝ λf . De. themepe, lq ^ agentpe,mq ^ f peq

(2) + Bart + Homer ⇝ λf . De. themepe, bq ^ agentpe, hq ^ f peq

Coordinate the two representations above (Partee and Rooth 1983):
λf . rDe. themepe, lq ^ agentpe,mq ^ f peqs ^

rDe. themepe, bq ^ agentpe, hq ^ f peqs

Add the idiosyncratic contribution of the verb (1):
λf . rDe. themepe, lq ^ agentpe,mq ^ seepeq ^ f peqs ^

rDe. themepe, bq ^ agentpe, hq ^ seepeq ^ f peqs

Closure:
rDe. themepe, lq ^ agentpe,mq ^ seepeq^truepeqs ^

rDe. themepe, bq ^ agentpe, hq ^ seepeq^truepeqs
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Crucial assumption: verbs do not directly refer to their arguments.
Would not work:

Marge saw Lisa and Homer – Bart.
saw ⇝ λx .λy . seepx , yq

Let us try:
saw ⇝ (1) λx .λy . seepx , yq

(2) λx .λy .λf . f px , yq

gapped clause ⇝ (2) λx .λy .λf . f px , yq

As before: ((2) + arguments: m, l , etc.) ˆ 2 + coordination:
λf . f pm, lq ^ f ph, bq, apply this to (1):
seepm, lq ^ seeph, bq

Problem: relevant meaning constructors need to assume the number of
dependents and their grammatical functions, e.g.:

(2) λx .λy .λf . f px , yq :
pÒ subjq⊸ pÒ objq⊸ ppÒ subjq⊸ pÒ objq⊸ Òq⊸ Ò
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Crucial assumption: verbs do not directly refer to their arguments.
Would not work:

Marge saw Lisa and Homer – Bart.
saw ⇝ λx .λy . seepx , yq

Let us try:
saw ⇝ (1) λx .λy . seepx , yq

(2) λx .λy .λf . f px , yq

gapped clause ⇝ (2) λx .λy .λf . f px , yq

As before: ((2) + arguments: m, l , etc.) ˆ 2 + coordination:
λf . f pm, lq ^ f ph, bq, apply this to (1):
seepm, lq ^ seeph, bq

Problem: relevant meaning constructors need to assume the number of
dependents and their grammatical functions, e.g.:

(2) λx .λy .λf . f px , yq :
pÒ subjq⊸ pÒ objq⊸ ppÒ subjq⊸ pÒ objq⊸ Òq⊸ Ò
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Crucial assumption: verbs do not directly refer to their arguments.
Would not work:

Marge saw Lisa and Homer – Bart.
saw ⇝ λx .λy . seepx , yq

Let us try:
saw ⇝ (1) λx .λy . seepx , yq

(2) λx .λy .λf . f px , yq

gapped clause ⇝ (2) λx .λy .λf . f px , yq

As before: ((2) + arguments: m, l , etc.) ˆ 2 + coordination:
λf . f pm, lq ^ f ph, bq, apply this to (1):
seepm, lq ^ seeph, bq

Problem: relevant meaning constructors need to assume the number of
dependents and their grammatical functions, e.g.:

(2) λx .λy .λf . f px , yq :
pÒ subjq⊸ pÒ objq⊸ ppÒ subjq⊸ pÒ objq⊸ Òq⊸ Ò
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Crucial assumption: verbs do not directly refer to their arguments.
Would not work:

Marge saw Lisa and Homer – Bart.
saw ⇝ λx .λy . seepx , yq

Let us try:
saw ⇝ (1) λx .λy . seepx , yq

(2) λx .λy .λf . f px , yq

gapped clause ⇝ (2) λx .λy .λf . f px , yq

As before: ((2) + arguments: m, l , etc.) ˆ 2 + coordination:
λf . f pm, lq ^ f ph, bq, apply this to (1):
seepm, lq ^ seeph, bq

Problem: relevant meaning constructors need to assume the number of
dependents and their grammatical functions, e.g.:

(2) λx .λy .λf . f px , yq :
pÒ subjq⊸ pÒ objq⊸ ppÒ subjq⊸ pÒ objq⊸ Òq⊸ Ò
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Crucial assumption: verbs do not directly refer to their arguments.
Would not work:

Marge saw Lisa and Homer – Bart.
saw ⇝ λx .λy . seepx , yq

Let us try:
saw ⇝ (1) λx .λy . seepx , yq

(2) λx .λy .λf . f px , yq

gapped clause ⇝ (2) λx .λy .λf . f px , yq

As before: ((2) + arguments: m, l , etc.) ˆ 2 + coordination:
λf . f pm, lq ^ f ph, bq, apply this to (1):
seepm, lq ^ seeph, bq

Problem: relevant meaning constructors need to assume the number of
dependents and their grammatical functions, e.g.:

(2) λx .λy .λf . f px , yq :
pÒ subjq⊸ pÒ objq⊸ ppÒ subjq⊸ pÒ objq⊸ Òq⊸ Ò
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tqt qt q q q jLimitations 1

Crucial assumption: verbs do not directly refer to their arguments.
Would not work:

Marge saw Lisa and Homer – Bart.
saw ⇝ λx .λy . seepx , yq

Let us try:
saw ⇝ (1) λx .λy . seepx , yq

(2) λx .λy .λf . f px , yq

gapped clause ⇝ (2) λx .λy .λf . f px , yq

As before: ((2) + arguments: m, l , etc.) ˆ 2 + coordination:
λf . f pm, lq ^ f ph, bq, apply this to (1):
seepm, lq ^ seeph, bq

Problem: relevant meaning constructors need to assume the number of
dependents and their grammatical functions, e.g.:

(2) λx .λy .λf . f px , yq :
pÒ subjq⊸ pÒ objq⊸ ppÒ subjq⊸ pÒ objq⊸ Òq⊸ Ò
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tqt qt q q q jLimitations 2

Because of this assumption, this solution relies on Champollion’s (2015)
approach to event semantics.
See the draft paper for the full syntax–semantics interface (and all
relevant meaning constructors).
This solution has been computationally verified as an XLE+Glue
(Dalrymple et al. 2020) implementation.
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Because of this assumption, this solution relies on Champollion’s (2015)
approach to event semantics.
See the draft paper for the full syntax–semantics interface (and all
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(Dalrymple et al. 2020) implementation.
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Because of this assumption, this solution relies on Champollion’s (2015)
approach to event semantics.
See the draft paper for the full syntax–semantics interface (and all
relevant meaning constructors).
This solution has been computationally verified as an XLE+Glue
(Dalrymple et al. 2020) implementation.

Tracy gave Lisa to Marge and Bart to Homer.

rDe. givepeq ^ agentpe, tq ^ themepe, lq ^ beneficiarype,mqs ^

rDe. givepeq ^ agentpe, tq ^ themepe, bq ^ beneficiarype, hqs

‘Tracy gave Lisa to Marge and Tracy gave Bart to Homer.’

rDe. givepeq ^ agentpe, tq ^ themepe, lq ^ beneficiarype,mqs ^

rDe. givepeq ^ agentpe, bq ^ themepe, lq ^ beneficiarype, hqs

‘Tracy gave Lisa to Marge and Bart gave Lisa to Homer.’
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This solution is based on the XLE+Glue (Dalrymple et al. 2020)
approach to Glue Semantics:

typical f-structures have the set-valued attribute glue,
containing (f-structure encoding of) meaning constructors.

For example:
Marge N pÒ predq “ ‘Marge’

‘m : Òe ’ P pÒ glueq

saw V pÒ predq “ ‘seexpÒ subjq, pÒ objqy’
‘λx .λy . seepx , yq : pÒ subjqe⊸ pÒ objqe⊸ Òt ’ P pÒ glueq

f

»

—

—

—

—

—

—

—

—

—

—

—

—

—

–

pred ‘see<(f subj), (f obj)>’

subj s

»

–

pred ‘Marge’

glue
!

‘m : se ’
)

fi

fl

obj o

»

–

pred ‘Lisa’

glue
!

‘l : oe ’
)

fi

fl

glue
!

‘λx .λy . seepx , yq : pf subjqe⊸ pf objqe⊸ ft ’
)

fi

ffi

ffi

ffi

ffi

ffi

ffi

ffi

ffi

ffi

ffi

ffi

ffi

ffi

fl
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Key observation of the syntactic analysis of gapping of Patejuk and
Przepiórkowski 2017:

pred is “deeply distributive”.
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We would like glue to behave like pred:
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Given an appropriate treatment of conjunctions, this would lead to the
following (fuller) structure:
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leading to the desired representation: seepm, lq ^ seeph, bq.
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Given an appropriate treatment of conjunctions, this would lead to the
following (fuller) structure:

Marge saw Lisa and Homer – Bart.
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leading to the desired representation: seepm, lq ^ seeph, bq.
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Given an appropriate treatment of conjunctions, this would lead to the
following (fuller) structure:
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leading to the desired representation: seepm, lq ^ seeph, bq.
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Problem:
glue does not behave like pred in XLE,
not even when it is declared as distributive.

Apparently,
the “deep distributivity” of pred is hardcoded in XLE,
without the possibility of declaring other attributes as “deeply
distributive”.
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Problem:
glue does not behave like pred in XLE,
not even when it is declared as distributive.

Apparently,
the “deep distributivity” of pred is hardcoded in XLE,
without the possibility of declaring other attributes as “deeply
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Two approaches to gapping at the syntax–semantics interface:
standard Glue + Champollion’s (2015) event semantics:

elegant solution (in the words of a Reviewer),
standard Glue mechanism of multiple use of resources,
implemented in XLE+Glue;

XLE+Glue + “deep distributivity” of glue:
does not (need to) assume Champollion’s (2015) event semantics,
multiplication of meaning constructors via distributivity,
does not work because there is no way to make glue behave like pred.

Currently a proof of concept, limited empirically:
to coordination (cf. Park 2019 and Bîlbîie et al. 2023),
to simple clauses.

Thank you for your attention!
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Two approaches to gapping at the syntax–semantics interface:
standard Glue + Champollion’s (2015) event semantics:

elegant solution (in the words of a Reviewer),
standard Glue mechanism of multiple use of resources,
implemented in XLE+Glue;

XLE+Glue + “deep distributivity” of glue:
does not (need to) assume Champollion’s (2015) event semantics,
multiplication of meaning constructors via distributivity,
does not work because there is no way to make glue behave like pred.

Currently a proof of concept, limited empirically:
to coordination (cf. Park 2019 and Bîlbîie et al. 2023),
to simple clauses.
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elegant solution (in the words of a Reviewer),
standard Glue mechanism of multiple use of resources,
implemented in XLE+Glue;

XLE+Glue + “deep distributivity” of glue:
does not (need to) assume Champollion’s (2015) event semantics,
multiplication of meaning constructors via distributivity,
does not work because there is no way to make glue behave like pred.

Currently a proof of concept, limited empirically:
to coordination (cf. Park 2019 and Bîlbîie et al. 2023),
to simple clauses.
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standard Glue + Champollion’s (2015) event semantics:

elegant solution (in the words of a Reviewer),
standard Glue mechanism of multiple use of resources,
implemented in XLE+Glue;

XLE+Glue + “deep distributivity” of glue:
does not (need to) assume Champollion’s (2015) event semantics,
multiplication of meaning constructors via distributivity,
does not work because there is no way to make glue behave like pred.

Currently a proof of concept, limited empirically:
to coordination (cf. Park 2019 and Bîlbîie et al. 2023),
to simple clauses.

Thank you for your attention!



15/15

Intro Solution 1 Solution 2 Outro
q q q

t
tq

t
tt

tqt
t

ttt
qt

t
ttt

qt
tt

tq
t

ttt
qt

ttt
qt

t
ttt

qt
tt

qt
t

t
q

tt
tqt

tt
tt

qtt
t

q
t

qt
t

tt
tqt

tt
tt

tqt
t

ttt
q

ttt
qt

t
ttt

qt
tt

qt
t

ttt
qt

t
q

tt
qt

t
tt

qt
t

tt
tq

t
tt

qt
t

tt
tqt

t
tt

qt
t

tt
qt

t
tqt

t
tt

q
tt

tqt
tt

tt
tqt

tt
tq

t
ttt

qt
t

tt
tq t
q

t
q

t
tt

qt
t

tt
q

t
tt

qt
tt

qt
t

tt
tqt

t
ttt

tq
t

t
q

tt
tqt

tt
tt

qtt
t

q
tt

qt
t

tt
qt

t
tt

tq
t

tt
qt

t
tt

tqt
t

tt
qt

t
tt

qt
t

ttt
qt

t
tqt

t
ttt

qt
t

tt
tqt tt
qtt

t
q

t
tq

t
tt

q
t

tt
tqt

t
tt

q
t

t
q

t
tq

tt
tt

q
t

ttt
tq

t
tt

tq
t

tt
tqt

t
tt

tq
t

tt
qt

t
ttt

qt
ttt

tq
t

tt
q

t
t

q
tt

qt
t

tqt
t

tt
q

tt
q

t
tt

qt
t

tt
qt

tt
qt

ttt
q

t
q

tt
qtt

t
tt

q
t

ttt
qt

ttt
qt

t
tt

q
t

ttt
qtt

t
t

q
tt

q
tt

tqt
tt

tt
tqt

tt
q

t
tt

tqt
t

tt
qt tqt

t
tt

qt
tt

qt
t

tt
q

t
tt

tqt
t

tt
qt

t
ttt

qt tqt
t

tqt qt q q q jSummary

Two approaches to gapping at the syntax–semantics interface:
standard Glue + Champollion’s (2015) event semantics:

elegant solution (in the words of a Reviewer),
standard Glue mechanism of multiple use of resources,
implemented in XLE+Glue;

XLE+Glue + “deep distributivity” of glue:
does not (need to) assume Champollion’s (2015) event semantics,
multiplication of meaning constructors via distributivity,
does not work because there is no way to make glue behave like pred.

Currently a proof of concept, limited empirically:
to coordination (cf. Park 2019 and Bîlbîie et al. 2023),
to simple clauses.
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standard Glue + Champollion’s (2015) event semantics:

elegant solution (in the words of a Reviewer),
standard Glue mechanism of multiple use of resources,
implemented in XLE+Glue;

XLE+Glue + “deep distributivity” of glue:
does not (need to) assume Champollion’s (2015) event semantics,
multiplication of meaning constructors via distributivity,
does not work because there is no way to make glue behave like pred.

Currently a proof of concept, limited empirically:
to coordination (cf. Park 2019 and Bîlbîie et al. 2023),
to simple clauses.
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standard Glue + Champollion’s (2015) event semantics:

elegant solution (in the words of a Reviewer),
standard Glue mechanism of multiple use of resources,
implemented in XLE+Glue;

XLE+Glue + “deep distributivity” of glue:
does not (need to) assume Champollion’s (2015) event semantics,
multiplication of meaning constructors via distributivity,
does not work because there is no way to make glue behave like pred.

Currently a proof of concept, limited empirically:
to coordination (cf. Park 2019 and Bîlbîie et al. 2023),
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Two approaches to gapping at the syntax–semantics interface:
standard Glue + Champollion’s (2015) event semantics:

elegant solution (in the words of a Reviewer),
standard Glue mechanism of multiple use of resources,
implemented in XLE+Glue;

XLE+Glue + “deep distributivity” of glue:
does not (need to) assume Champollion’s (2015) event semantics,
multiplication of meaning constructors via distributivity,
does not work because there is no way to make glue behave like pred.

Currently a proof of concept, limited empirically:
to coordination (cf. Park 2019 and Bîlbîie et al. 2023),
to simple clauses.
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